Tekst 6 Could one word unite the world?

1p 12 Which of the following fits the gap in paragraph 1?
A arbitrary
B controversial
C obsolete
D practical

1p 13 Which of the following fits the gap in paragraph 3?
A annoying
B astonishing
C convenient
D reassuring

1p 14 Which of the following is in line with what is said in paragraph 47?
A “Huh” is generally acknowledged to be the only example of a sound
common to all languages.
B The idea of “huh” as a significant form of communication should be
researched.
¢ Though everybody is capable of uttering “huh”, we have to master its
usage.

“According to the authors, this is what’s going on here.” (paragraph 6)
1p 15 To which of the following does this remark refer?

A ‘it rules out a natural objection” (paragraph 4)

B “linguistic cultures are diverse and unrelated” (paragraph 5)

Cc “convergent evolution” (paragraph 5)

D “miscommunication” (paragraph 6)

“a fascinating article by Mark Dingemanse and his colleagues”
(paragraph 3)
1p 16 Which of the following best reflects the claim made in the article by

Dingemanse and his colleagues?

A A deliberate transfer between culturally related languages has led to
the development of a shared vocabulary.

B The fact that human interaction requires the ability to correct
miscommunication has led to the development of a shared word.

Cc The widespread use of the word “huh?” is evidence that all languages
are related to a larger extent than was previously assumed.
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